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}

if (a.length == 0)
else { /+ a.length > 0 «*

{ /* empty array can’t be a square */ }

int assumedLength

boolean isSquare =
£ .

al[0].length == assumedLength ;
w = 0; row < a.length; row ++) {

}

if (isSquare) { /* print =*
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| for (int row = 0; row < h
[fﬁr(:mt col <A € Z col ++) |

System.out. prlnt(g rox] [coll);

System.out.println();
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for (int col =(0

System.out

Dt

&2
g 0

< __a.length ; row ++) {

col <{a[rfw])len = owP; col ++) {
System.out.print (alrow] [col]l); }

}
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final double PI = 3.1415926;
Scanner (Anpu ~pew Scanner (System. in) ;
double fadius’= input.nextDouble() ;

double area

2\

(radius >=_0)
=7 qfl

area = radils * radius x PI;

[System.out.println("Area is " + area) ;
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if ([radius| >= 0@11{

radius ‘x’ radius x PI;
.out.println("Area 1is " + area);
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@(mai(ks >= 80.) { @. mm W

System.out.println

(ma§%s >= T70) { gg

ystem.out.printin("B"));
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if (gpa >= 2.5) {
graduateWith = "Pass";

}

else if (gpa >= 3.5) {
graduateWith = "Credit";

}

else if (gpa >= 4) {
graduateWith = "Distinction";

}

else if (gpa >= 4.5) {
graduateWith = "High Distinction" ;

}
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>= 0)
(x > 100) {
System.out.printin("x is larger than 100");

tem.out.println("x is negative");
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if (number %
Shvet

isEven = true;
} /\_/\N

else {
isEven = false;

}
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